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QUESTION 1

A factory ratified a new contract. The new starting wage is $14.25. Next year on June 1 the wages will increase 4%. The
year after next, the increase will be another 4%. The year after that the increase will be 2%. What will the starting wage
be three years from now? 

A. $14.82 

B. $15.41 

C. $15.72 

D. $16.03 

E. $18.04 

Correct Answer: C 

 

 

QUESTION 2

You purchase a new car for $16,780.00. The sales tax rate is 6%. How much tax do you pay? 

A. $100.68 

B. $604.08 

C. $1006.80 

D. $1678.00 

E. $10,000.00 

Correct Answer: C 

 

 

QUESTION 3

You go into the video store with $52.00 in your wallet. Videos are on sale for $14.95 each. How many can you buy if
there is no sales tax? 

A. 2 videos 

B. 3 videos 

C. 4 videos 

D. 5 videos 
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E. 6 videos 

Correct Answer: B 

 

 

QUESTION 4

Johnson Landscape is installing mulch at a site. The area of the site is 150 feet by 210 feet. The mulch will be applied to
a depth of 4 inches. Red mulch costs $45.00 per cubic yard. Natural brown mulch costs $38.00 per cubic yard (mulch is
only sold in whole yards). How much would the company save by using natural brown mulch? 

A. $2723.00 

B. $3215.00 

C. $8169.00 

D. $24,500.00 

Correct Answer: A 

 

 

QUESTION 5

How many inches are there in 4 feet? 

A. 12 

B. 24 

C. 36 

D. 48 

E. 52 

Correct Answer: D 
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